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Geography Model Test Questions 10 in English With Answers

1. What is the distance between rails for broad gauge?
(A) 1.98 metre (B) 1.67 Metre (C) 1.78 Metre (D) 1.42 metre
2. Match list-1 with list-11 correctly and select your answer using the codes given below:
List-I List-11
(a) Nunmati - Bihar
(b) Barauni - Assam
(c) Narimanam - Kerala
(d) Cochin - Tamil Nadu
Codes:

a b c d

A 4 3 2 1
® 2 1 4 3
© 1 4 3 2

(D) 3 2 4 1

3. Godwin Austen is located in this mountain range:

(A) Siwalik (B) Himadri (C) Karakoram (D) Himachal
4. The line separating the boundary between India and Pakistan is

(A) Radcliff (B) Durand (C) MacMohan (D) Maginot
5. The percentage of urban population of India according to 1991 census is

(A) 18.3% (B) 20.4% (C) 25.7% (D) 13.9%
6. Which one of the following is a land-locked state in India?

(A) Andhra Pradesh (B) Bihar (C) Maharastra (D) Keral
7. Which river forms delta in Orissa state?

(A) Godavari (B) Yamuna (C) Mahanadi (D) Damodar
8. In which region paddy is the most important crop?

(A) Equatorial region (B) Mansoon region

(C) Mediterranean region (D) Tundra region
9. Which of the following soils is more fertile in India?
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(A) Red soil (B) Alluvial soil (C) Laterite soil (D) Black soil
10.  Consider the following statements:
I. India has the largest network of roads in the world

[1. The longest road is the grand trunk road

Of these:
(A) 1 alone is correct (B) 11 alone is correct
(C) Both are correct (D) Both are wrong

11.  Which one of the following classes of town has more than 50% of the urban population in India?
(A) Class | (B) Class Il (C) Class 111 (D) Class IV
12.  Consider the following statements:
I. Hyderabad is situated on the river bank of Musa
I1. Mathura is situated on the river bank of Yamuna
Now select your answer from the codes given below:

(A) True True
(B) True False
© False True
(D) False False

13.  The location of the National Remote Sensing Agency of India is

(A) Hyderabad (B) Chennai (C) Thumba (D) Sriharikota
14.  Which of the following states in India has the largest forest area?

(A) Karnataka (B) Madhya Pradesh (C) Uttar Pradesh (D) Kerala
15.  The state with highest density of population in India according to 1991 census is

(A) Tamil Nadu (B) Kerala (C) Bihar (D) West Bengal
16.  According to 1991 census the population of India is

(A) 76.4 crores (B) 84.4 Crores (C) 87.3 Crores (D) 72.8 Crores
17.  Which country accounts for the largest share of India’s Exports?

(A) USA (B) UK (C) UAE (D) Japan
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18.

19.

20.

21.

22.

23.

24,

25.

26.

27.

28.

29.

30.

The leading sulphur producing country in the world is

(A) USA (B) Russia (C) Japan (D) Mexico
When Uttaranchal was created, which city was its capital?

(A) Dehradu (B) Nainital (C) Srinagar (D) Gangtok

The planet very close to sun is

(A) Venus (B) Mercury (C) Earth (D) Mars

The highest peak in South India is

(A) Dodabetta (B) Kalsubai (C) Anaimudi (D) None of these
The widest gap across the western Ghat is

(A) Bhor ghat (B) Thal Ghat (C) Ghandwa Gap (D) Palghat Gap
Karakoram Range lies in

(A) Uttar Prdesh (B) Jammu and Kashmir

(C) North Eastern part of Sikkim (D) Arunachal Pradesh

On which of the following states, retreating monsoon has more effect?

(A) Orissa (B) Punjab (C) West Bengal (D) Tamil Nadu
Norwesters cause significant amount of rainfall in

(A) Assam and West Bengal (B) West Bengal and Orissa

(C) Bihar and Orissa (D) Tamil Nadu and Andhra Pradesh

Which state is the largest producer of natural rubber?

(A) Assam (B) Tamil Nadu (C) Kerala (D) Karnataka

In Tamil Nadu oil struck at

(A) Narimanam (B) Ariyalur (C) Kollidam (D) Madukarai
Which iron and steel industry is renamed as Visveswarayya iron and steel Industry in India?
(A) Bhilai (B) Bhadrabati (C) Rourkela (D) Bokaro
Which state has the lowest literacy rate as per 1991 census?

(A) Bihar (B) Andhra Pradesh (C) Madhya Pradesh (D) Orissa
Which one is not a planet?

(A) Earth (B) Saturn (C) Moon (D) Pluto
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31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

41.

42.

43.

44,
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The longest river in peninsular India is

(A) Narmada (B) Godavari (C) Mahanadi (D) Cauvery
Which of the following rivers does not form any delta at its mouth?

(A) Cauvery (B) Mahanadi (C) Tapti (D) Godavari
Which one of the following states is highly flood prone as well as drought prone?
(A) Uttar Pradesh (B) Bihar (C) Madhya Pradesh (D) West Bengal
Which one of the following states has the least forest area?

(A) Haryana (B) Kerala (C) Tamil Nadu (D) Assam
Which of the following is the most indigenous atomic power plant in India?

(A) Trombay (B) Tarapur (C) Kalpakkam (D) Kota
Which of the following rivers is known as India’s river of sorrow?

(A) Hoogly (B) Damodar (C) Brahmaputra (D) Kosi
Which one of the following is known as the electronic city of India?

(A) Chandigarh (B) Delhi (C) Kanpur (D) Bangalore
Which one of the following ports is not on the western coast of India?

(A) Kandla (B) Marmagao (C) Cochin (D) Paradip
Which one of the following dams is a joint venture of Tamil Nadu and Kerala?

(A) Tehri Dam (B) Parambikulam-Aliyar Dam

(C) Thein Dam (D) Rajghat Dam

India has the maximum amount of foreign trade with

(A) USA (B) China (C) Japan (D) Germany
Which is the smallest continent in the world?

(A) Africa (B) Asia (C) Australia (D) Europe
Earthquake is measured using

(A) Barometer (B) LASER rays (C) Seismograph (D) Altimeter
The raw material used in cement industry is

(A) Limestone (B) Clay (C) Sand (D) Magnesium carbonate

Which of the following soils is suitable for plant growth?
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45.

46.

471.

48.

49,

50.

51.

52.

53.

54,

55.

(A) Clay soil (B) Sandy soil (C) Stony soil (D) Rocky soil
Which of the following soils has low humus?

(A) Alluvial (B) Black soil (C) Desertic soil (D) Loam

The state which has achieved 100% literacy in India is

(A) Nagaland (B) Karnataka (C) Kerala (D) Tamil Nadu
Find the correct sequence of the states along the eastern coast of India form south to north
(A) Tamil Nadu, Andhra Pradesh, Orissa, West Bengal

(B) Tamil Nadu, Orissa, West Bengal, Andhra Pradesh

(C) Tamil Nadu, Orissa, Andhra Pradesh, West Bengal

(D) Tamil Nadu, Andhra Pradesh, West Bengal, Orissa

According to 2001 census, the lowest sex ratio in Tamil Nadu is observed in ------------- district
(A)Madurai (B) Trichirapallai (C) Salem (D) Chennai
India gets most of its rainfall in which season?

(A) Winter (B) South-west monsoon

(C) North-east monsoon (D) Summer

Damodar valley project is beneficial to which of these states?

(A) Bihar and Orissa (B) Bihar and West Bengal

(C) West Bengal and Orissa (D) Orissa and Karnataka

Pimpri is noted for ----------- industry.

(A) Air craft (B) Antibiotics (C) Locomotives (D) Paper

The headquarters of North-Eastern Railway zone in India is

(A) Kolkata (B) Guwahati (C) Gorakhpur (D) Secunderabad
In which state of India, the Aravalli Range is situated?

(A) Rajasthan (B) Himachal Pradesh (C) Orissa (B) Bihar
Which one of the following is not correctly matched?

(A) Lignite — Coal (B) Bauxite — Aluminium

(C) Magnetite — Iron (D) Pyrite — Gold

Match list-1 with list-11 correctly and select your answer using the codes given below:
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List-1 List-11
(a) Gypsum 1. Bihar
(b) Uranium 2. Orissa
(c) Manganese 3. Karnataka
(d) Caromite 4. Rajasthan
Codes:
a b C d
A 4 1 2 3
B) 2 1 4 3
) 3 4 2 1
(D) 4 3 1 2
56. In which month, temperature is highest in south India?
(A) December (B) April (C) July (D) October

57.  Find the correctly matched pair:
(A) Diesel Locomotive — Perambur (B) Rail Coach factory — Kapurthala
(C) Integral coach factory — Ranchi (D) Diesel Component works — Varanasi
58.  Occidental agriculture is practiced in
(A) China (B) Iran (C) Korea (D) USA
59.  The leading producers of mica in the world are
(A) India and Bangaladesh (B) India and Pakistan
(C) India and USA (D) India and Russia
60.  Which one of the following is not correctly matched?
(A) Kolkata — Hoogly (B) Delhi — Yamuna
(C) Kanpur — Ganga (D) Cuttack — Krishna
61.  The Durand line forms the boundary of which countries?
(A) India — Afganistan (B) India — Pakistan
(C) India — China (D) India — Myanmar
62. Match list-1 with list-11 correctly and select your answer using the codes given below:
List —1 List — 11
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63.

64.

65.

66.

67.

68.

69.

70.

71.

72.

(a) Andhra Pradesh 1. Hyderabad
(b) Arunachal Pradesh 2. Itanagar
(c) Madhya Pradesh 3. Bhopal
(d) Himachal Pradesh 4. Simla
Codes:

a b c d
(A 1 2 3 4
(B) 2 3 4 1
< 3 4 1 2

(D) 4 1 2 3

Natural diamond is mined from

(A) Ananthapur (B) Kolar (C) Jabalpur (D) Panna
In Tamil Nadu petroleum Refinary is located at

(A) Neyveli (B) Manali (C) Vellore (D) Avadi

In Tamil Nadu, a paper factory is found in

(A) Chennai (B) Coimbatore (C) Pugalur (D) Namakkal
The rate of increase in population according 1991 census in India is

(A) 2.5 % (B) 3.5% (C) 1.5% (D) 4.0%

Which state has the largest number of sugar mills?

(A) Maharashtra (B) Bihar (C) Uttar Pradesh (D) Haryana

The percentage of Christian in Indian population according to 1991 census is

(A) 3.0% (B) 5.2% (C) 2.3% (D) 1.9%

The first regular census was taken in

(A) 1881 (B) 1891 (C) 1901 (D) 1911

Which is the manchestor of Tamil Nadu?

(A) Chennai (B) Trichy (C) Coimbatore (D) Chidambaram
Largest country of the world in terms of area is

(A) Canada (B) USA (C) India (D) Russia

The leading producers of silk in the world are
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73.

74.

75.

76.

77.

78.

79.

80.

81.

82.

83.

84.

(A) China and Japan (B) Cuba and Madagascar

(C) Bolivia and Paraguay (D) Hungary and Poland

According to 2001 census the literacy rate of Tamil Nadu is

(A) 63.70% (B) 90.91% (C) 88.52% (D) 73.47%
Which one of the following ports is not located along the eastern coast of India?

(A) Paradwip (B) Kandla (C) Vishakhapatnam (D) Chennai
Hogenakal falls is located in this district of Tamil Nadu?

(A) Salem (B) Namakkal (C) Tirunelveli (D) Dharmapuri
The highest peak of the western Ghats is

(A)Godwin Austin  (B) Nandadevi (C) Dhaulagiri (D) Anaimudi
Yercaud town in Tamil Nadu is located in this hill

(A) Kaolli hills (B) Palani hills (C) Sherveroy hills (D) Cardamom hills
Which river is flowing through a rife valley in India?

(A) Godavari (B) Narmada (C) Krishna (D) Kaveri

From North to South, find the correct sequence of the four cities of India

(A) Lucknow, Bhopal, Nagpur, Madurai (B) Bhopal, Nagpur, Madurai, Lucknow
(C) Nagpur, Bhopal, Lucknow, Madurai (D) Madurai, Lucknow, Nagpur, Bhopal
Which countries are joined by the Palk Strait?

(A) North and South Korea (B) Pakistan and China

(C) India and Pakistan (D) India and Sri Lanka

The longest river in South India is

(A) Mahanadi (B) Narmada (C) Godavari (D) Krishna

The Delhi range is a part of which of the following?

(A) Himalayas (B) Aravallis (C) Vindhya (D) Satpura
Which is the second ranking state in terms of population in India (1991)

(A) Uttar Pradesh (B) Madhya Pradesh (C) Bihar (D) Maharashtra
Match list-1 with list-11 correctly and select your answer using the codes given below:

List-I List-11
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(a) Mica production 1)Karnataka
(b) Tungsten production 2) Bihar
(c) Gold 3) Rajasthan
(d) Monazite 4) Kerala
Codes:

a b C d
(A 2 3 1 4
(B) 4 3 2 1
© 3 4 1 2

D) 1 3 4 2

85.  Match list-1 with list-11 correctly and select your answer using the codes given below:

List-I List-11

(a) Rourkela 1) German Collaboration
(b) Bhilai 2) Soviet Collaboration
(c) Durgapur 3) Indigenous
(d) Vishakhapatnam 4) UK Collaboration
Codes:

a b c d
A 4 3 2 1
B) 3 4 1 2
c 1 2 4 3
(D) 2 1 3 4

86.  The chief are of Canadian textile production is

(A) Northern Canada (B) South Western Canada

(C) South Eastern Canada (D) Interior Canada
87.  The highest dam in India is

(A) Hirakud (B) Mettur (C) Damodar (D) Bakrangal
88.  Black soil is situated for the cultivation of

(A) Paddy (B) Sugarcane (C) Cotton (D) Wheat

89.  The average life span of an Indian is
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(A) 56 year (B) 64 year (C) 60 year (D) None of these

Tamil Nadu gets maximum rainfall during

(A) North — east monsoon season (B) South - west monsoon season

(C) Summer season (D) Winter season

The major copper producing state in India is

(A) Madhya Pradesh (B) Rajasthan (C) Gujarat (D) Maharashtra

Chandrapur Super Thermal Power Station is run by Government

(A) Karnataka (B) Maharashtra (C) Madhya Pradesh (D) Goa

The largest quantity of barley is produced in
(A) India (B)USA (C) Russia (D) China
The main use of mica is in
(A) The Steel Industry (B) Petroleum Refinery

(C) Electrical Industry (D) Glass Industry

Port Blair is the capital of

(A) Andaman and Nicobar (B) Fuji (C) Nagaland (D) Sri Lanka

Which of the following is coniferous plant?
(A) Pine (B) Palm (C) Tamarind (D) None of these
Large sized dissected leave plants are mostly found in

(A) Northern states of India (B) Western ghats of India
(C) Both of these (D) None of these

Match list-1 with list-11 correctly and select your answer using the codes given below:

List-1 List-11
(a) Rourkela 1) Tamil Nadu
(b) Bhilai 2) Jharkhand
(c) Salem 3) Madhya Pradesh
(d) Bokaro 4) Orissa
Codes:
a b d
A 4 3 2
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B) 3 4
C 4 3
o 2 1

2
2
4

1
1
3

99, The direction of the summer monsoon wind in India is

(A) North — East
(C) North — West

(B) South — West
(D) South — East
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100.  Match list-1 with list-11 correctly and select your answer using the codes given below:

List-1

(a) Ahmedabad
(b) Amritsar
(c) Kolkata
(d) Bhagalpur

Codes:

a b
(A) 3 4
(B) 2 1
(C) 4 3
D) 1 4
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List-11

1) Jute products

2) Silk textiles

3) Woolen Textiles
4) Cotton textiles

w NN w N
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